Example 1

No ICDS Plan is Ranked 1 or 2 (or 1, 2, or 3 in the Northeast Region)

in more than Three Regions

Regions
Northeast
Northwest Southwest | West Central Central East Central Central Northeast
Plan A Plan B Plan C Plan A Plan D Plan H Plan L
1 89,000 87,000 90,000 92,000 89,000 89,000 93,000
Plan L Plan A Plan ) Plan C Plan H Plan E Plan D
2 87,000 86,000 88,000 90,000 84,000 87,000 90,000
Plan B Plan G Plan A Plan L Plan A Plan B Plan C
3 85,000 85,000 86,000 88,000 83,000 86,000 88,000
Plan D Plan C Plan H Plan D Plan C Plan A Plan)
4 83,000 84,000 85,000 87,000 82,000 85,000 86,000
Plan ) Plan D Plan B Plan E Plan E Plan D Plan A
5 82,000 83,000 84,000 86,000 81,000 84,000 85,000
Plan E Plan E Plan E Plan H Plan G Plan C Plan G
= 6 81,000 82,000 83,000 85,000 80,000 83,000 84,000
e Plan K Plan) Plan D Plan K Plan B Plan F Plan K
7 80,000 81,000 82,000 83,000 78,000 82,000 83,000
Plan | Plan F Plan K Plan | Plan | Plan) Plan B
8 55,000 80,000 81,000 55,000 55,000 80,000 82,000
Plan | Plan G Plan G Plan E
9 55,000 80,000 79,000 81,000
Plan F Plan | Plan F
10 78,000 55,000 80,000
Plan L Plan H
11 70,000 78,000
Plan | Plan |
12 55,000 55,000
Plan M Plan M Plan M Plan M
Disqualified 48,000 46,000 47,000 46,000




Example 2

There are ICDS Plans Ranked 1 or 2 (or 1, 2, or 3 in the Northeast Region)

in more than Three Regions

Regions
Northeast
Northwest Southwest | West Central Central East Central Central Northeast
Plan C Plan B Plan C Plan A Plan D Plan H Plan L
1 89,000 87,000 90,000 92,000 89,000 89,000 93,000
Plan L Plan C Plan L Plan C Plan B Plan L Plan D
2 87,000 86,000 88,000 90,000 84,000 87,000 90,000
Plan B Plan G Plan A Plan L Plan A Plan B Plan C
3 85,000 85,000 86,000 88,000 83,000 86,000 88,000
Plan D Plan A Plan H Plan D Plan C Plan A Plan )
4 83,000 84,000 85,000 87,000 82,000 85,000 86,000
Plan ) Plan D Plan B Plan E Plan E Plan D Plan A
5 82,000 83,000 84,000 86,000 81,000 84,000 85,000
Plan E Plan E Plan E Plan H Plan G Plan C Plan G
= 6 81,000 82,000 83,000 85,000 80,000 83,000 84,000
e Plan K Plan ) Plan D Plan K Plan H Plan F Plan K
7 80,000 81,000 82,000 83,000 78,000 82,000 83,000
Plan | Plan F Plan K Plan | Plan | Plan) Plan B
8 55,000 80,000 81,000 55,000 55,000 80,000 82,000
Plan | Plan G Plan G Plan E
9 55,000 80,000 79,000 81,000
Plan F Plan | Plan F
10 78,000 55,000 80,000
Plan) Plan H
11 70,000 78,000
Plan | Plan |
12 55,000 55,000
Plan M Plan M Plan M Plan M
Disqualified 48,000 46,000 47,000 46,000




